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-40
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28 38 4R 58 6A 7R 8A 98 10 1A 12RA 1A 28
R 4 R64E R74E
7 2F 3R 4B 58 6A 7B 8A 9A 10A 1A 12 1B 2R
3HAMEDLLE | -88 -124 9.4 14 -29 29 0.0 22 130 9.4 07 -136 -122
REDEERY -81 -37 -36 -86 -102 -109 -117 -59 -102 -65 -58 -65 5.1
3HA%XDREL 0.7 37 0.7 36 -36 -72 -14 36 -109 -86 -29 9.3 3.6
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-40
R6F R74E
2R 3A 4R 5A 6A 18 8H 98 108 11A 12B 1A 28
B 4 R64E R74E
7 28 38 48 5B 6A 7B 88 9A 108 1A 128 1B 28
3HAMEDLE | -26 -17.9 51 -64 -52 51  -9.1 00 169 169 78 -104 -77
BREDEERY -92 -26 -65 -91 -53 -91 -79 -41 -13 39 39 -13 1.3
3HAXNRBEL | -7.8 5.1 5.1 1.3 52 -10.3 5.2 68 -91 -39 -26 5.2 0.0
3. BRE
1) DI{E
—e— 3HAHIED
243
- REOES
#Y
—&- 3hA%D
RiEL
-40
R64F R74E
2A 38 48 58 68 7R 8H 9A 108 1A 12R 1A 2A
= PIN R64E R74E
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3HAREDLE | 125 125 -125 00 -125 250 -125 =125 125 -125 00 -125 0.0
BEDEERKRY 0.0 0.0 00 125 0.0 0.0 0.0 00 -125 -125 -125 -125
3HAEDRBL 00 -125 250 375 250 00 250 125 -250 00 125 00 125
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3HAMEDLE | -21.1 -105 -50 -190 -300 -350 -150 -19.0 -50 0.0 48 -48 -50
BREDEERY 0.0 53 -100 -95 -200 -150 -200 -238 -300 -300 -238 -143 -100
3hA%MRBEL | -105 -105 -250 -95 -400 -100 -150 -48 -250 -250 -190 -95 -150
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3HAREDLE | -21.2 -63 344 212 212 152 333 235 152 29 -188 -265 -303
RENEERY -121  -12.9 63 -121 -182 -152 -18.2 00 -212 -147 -156 -118 -152
3AA%MREL | 273 133 0.0 91  -9.1 00 -152 00 -30 -118 31 324 212
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